Phase Changes

Equation for vapor pressure change with temperature change
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Label the following heating curve for water:
Steam
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T
Platesay at Different slopes because of difference
Melting Pairt in heat capacities for each state of matter.
Ice

Label the following phase diagrams — how can you identify which is
water?
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Water has a negative slope between S/L phases because ice is less dense
than water. That means that if the pressure is increased (thereby
forcing an increased density) water would convert to the liquid phase, as
it is the most dense of all phases.



